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T o find the volume of a salid qf @1uti0n with the digk i<
| Il method,use one of the following:

- Axis of Revolution  Vertical Axis of Revolution
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\ | EXAMPLE 2
||| EXAMP : — : . :
N Use the fact that the world population was 2560 million in The half-life of radium-226 is 1590 years.
.| 1950 and 3040 million in 1960 to model the Population of the |— a. A sample of radium-226 has a mass of 100 mg. Find a
world in the second half of the 20™ century. (Assume that —| formula for the mass of the sample that remains after ¢
~| | the growth rate is proportional to the population size.) What years. Y (D) =100 ‘;jé‘%} =50
is the relative growth rate? Use the model to estimate the — P elal)
| world population in 1993 and to predict the population in : t- \S90 b~ 2 GO
—| the year 2020. | b.Find the mass after 1000 years

milligram.

21000 "R e

e

: c.When will the mass be reduced to 30 mg
~ | N A 4+ > =
PO L) R 993 2y £ =T s <
™ OV = =l
G 3 _ - \er K N | SgaTy
%i{g ]_%Lm O BTIItH 5!_“ : o T FResige e
TR Ty it O O O = S I s e T
[y r D L A = e ‘1' 4 5m)i ?}
e | | Y |6 | = @\ S ‘_‘L‘N\ ey | ) @ ool SF R T : *\
SENNCA TN frgd2 ) | | | Qo]
| Mzololih | M=7¢ - 590 o<
— <L 1] TS G 7 =P y <
,\\‘G(‘g “ ,P - :.- DY\ N1y ] ‘.A it ! ‘3 D‘—\L% CE“‘\\\
~ N el 1 o= LAY s | e N
~~ EXAMPLE 3 —| EXEMPLE 4 !
el | At any ti 3 in the area of a The number of bacteria in a culture 1S growing at a rate of 3000es
%\ acte};i;nilset‘t,;it:ee t!;laete a?: ;nc:';rtehaesi:;tereia_ If the ger unit of time ¢. At t = 0, the number of bagteria present was 7,500,
= 5 d th =s. £
. | Eletlaala?:;aa of "t)he bacteria is 1 I% then whatisthe |} findthe ““mbgrésem Hiz2 e’ll'/s |
| way ANEPAY L O - 2000 ‘
;R oA - s Ak = 0B
i =2 A Sac000 25 gk f & |
~ faS3 i XS . R ¥
- BVSeY 1 5.30ce s, |
4 ol ° B=7500e |
i e | = J500le | o
e = = a2 RA="150 e ]
8 = | cle” i - - i =]
e L =t k. B i
AERW VAT m DR el
’\-\\ N L ——i i ] \\\\r
T ’;;: i ree P
‘L”‘ ‘i 5 |




